8+BUS SERVICE MANUAL M@@[@D@

DWG. NO. SHT REV:
, , 6 s ] 3 ™™ 990-010-00 [T %
REVISIONS
REV: ECO: DESCRIPTION REV BY: [APP BY: DATE
266 C INCORP_ECO 52 Th C [9-28-93
2.20F D ADDED R611, D21 th C_ [10-13-93
50V J10-1 3 ARTWORK REVISED FOR SOLDERABILITY th C_[11-02-93
U3A 4 ——— kL sust-To-meTER 3 DELETED RESISTORS ADDED WITH ECO 52 th 11-16-93
— R11 4560  47UF Ry3 G [ 109 [U57 WAS NJM2043. REVISED NJM2068. trh 12-28-93
_g;{k_ 418V 120 H SPREAD APART LYTICS trh 1-19-94
D e O J11-2 SUB1OUT - J [145 |PHASE 1 ; DIODE HOLES WERE .032 trh | JGG | 4-17-94 | D
SUB 1 O J11-1 SUBIOUT+ 158 =
1 S SUBIA SuBtB K INCORP_EC0'S:189,193,307,545,568.588. KR 9-12-95
220PF 25V 1'2"6 J9-1 19-2 ) 0 I1-3 L INCORP_ECO'S:427,631,727,852. KR | ES |2-16-96
—AV—e—o cae u2A mé s 23S R15 . s [987 [AUTO INSERT LED'S KR 11-15-96
. 16V 4560 20 100 PF 20K iK/\I/ o, 4 993 |SOLDER BRIDGE REDUCTION
11 4 _
2 R4 1 SW2A g 2 EBUs-L 921 |LARCE CORE SWITCHES p. 59
10KD R6 1 5K1 ! LMIX T [926 |LARGE CORE BUTTONS
RE71< =2 Kl | O L_S0LO-BUS 1223|AUTO INSERT LED'S TO .038 HOLE SIZE
BUST J3-1 20K il —N—9 s 30 v T 1383(AUTO INSERT 55035792
BUS1-GND J3-2 . R7 A70F ! R16 dy | 1294 [REMOVE MADE ‘IN_ U.S.A. NOTE
- J w ,@ 6V t VW BUS-R 1256 R0 STEP SHAFT=S0KG DUAL
% \ + il -
i | e sy | Loy 70 i SR A0 T
— 5K1; 4560 2 6,7 % {OR-SOLO-BUS 1454 [8—PIN SIP_4560'S —
L .= ; swac R0 U |1490(INCORPORATE ECO'S: 987,993,921,926,1223, KR 2-3-98
€233 L+R L8~ 5kt 5 50L0-CTL 1284,1294,1387,1406,1410,1411,14 54.
i ' | 3
o =10 -5]“,'2'3 SoLO S0V,
123 Y F—{]J10-2 SuB2-TO-METER
R30 4580
— 4 0F
A% 6y 52‘6
@—{ 0 Ji1-5 SUB20UT-
-6 SUB20UT+
c8 SUB 2 0 J11-6
5 220PF ey R20 0 Ji1-4 SUB20UTGND
5K1 25V 120 €280 b
u28 R40 R33
¢ +—\\A——] c12 L SW6A C
s9-3 g9-4 | YR 53 100 PF R4S S oK a4
v
= SUB2A SUB28B ) 20K SwsA R27 i
1 5K1 '
2K7 co 1342 N—rt
BUS2 J3-3 ] R28 47UF ; A
BUS2-GNDJ3—4 ’ L R 416V : RS2 g1
S 16} '
2068 4 N *—¢ swan| |4 1SW5B sk SWeB
R570 ey S8
BUST-BGND BEN 20 - 7.15Wse Rat
- €263 '3 5K1
I o l—i* §3%
o 0 1SWsD SOLO 50V
— = o —— F—{]410-3UB3-TO-METER —
R57 :JSZ:O o
— 47UF g2
16V
—RRA—y X yADN 0 J11-7 SUB3OUT-
0 J11-8 SUB30UT+
C14
Ra2 3 g ks sussg OUB 3 O J11-9 SUB3OUTGND
5K1 220 425V 120 J9-6
"—’\/\/\/— _0 €281 UBA ci8 R50
47UF d SWIA
gi? 49-5 o 16V 4560 RS8 100 PF R53§ ilj\i/‘—f)_‘
20 20K v
) SWBA R44 _,
BUS3 J3-5 R46 2 5K1 ' LMIX
BUS3-GNDJ3-6 L P, —s R47 c715F H M 1 03812 B
B 2068 R569 47U R49 K
20¢ 759 T W= (' 2
! B ! SW7A SWBB  SK1 swgp
4560 = T AN
c277 = ISWBC R43
T L+R g\i 8 K1
.01 L iswao SUB-SOLO-LED
M
s €22 2. %Y—D 10-4 SUB4-TO-METER
R116 4560  470F R151 SOLO + !
29 1sv 120
%—1 0 J11-11 SUB4OUT-
R59 [SCTR 1 OJ1-12 SUB4OUT+ 8-PIN SIP DETAIL
5K1 220PF +25V 120 0J11-10 SUB4OUTGND TOP VIEW
T/B2SUBGROUPS > wy { | | E\V\W\—e0 [~GATE Ay [~GATE B
J J-10
R52 R133§ C24 RI52 < R67  SW12A 1_>
K1
; 205 100 pF ks | 2Kl "o, OFLASH-8US |® @ @ ®O0 e
S PIN 1
JSwina - Ret i DTMABC OUT - 4 V- 4 - ouT v+
BUS4 J3-7 i>_ R64 3 2 5K1 ' RMIX
BUS4-GND J3-8 * USB c21 i é\{s\é\v a UNLESS OTHERWISE SPECIFIED CONTRACT NO:
2068 R99 47UF : y < OINENSIONS ARE N INCHES
uss 16V | 5K1 - TOLERANCES
R568 >—K='}§)\,— = +¢ Swi1B wi2B FRACTIONS: DECIMALS ANGLES: / - \— o}
A 20K p N ° 1T SW10A 4 5 R60 5K1 + ;;x: APPROVALS DATE Mackie Designs Inc. Woodinville, Wa. A
1 L4
4560 [—e—b e | S 6-23-93
L+R 7..,\: 8 WATERIAL: RECRET SCHEMATIC
c278 9.7 cJ 7-9-93
Iy 'sw11n SOLO FSSUED: 8—-BUS OUTPUT
o1 FINISH: CR 7-9-93
.01 ENG: SIZE DWE. No. REV.
P 990-010-00 |y
DO NOT SCALE DRAWING M C: SCALE: | |su£:r 1 oF 7
| | . | ‘ : . | : | . | 1

©1993,01999 Mackie Designs Inc. All rights reserved OUTPUT BOARD 10 REV U 10' 1)@




MACGCIKJIE:R 8-I|3US SERVICE MANUAL

[owG. No. SHT | REV:
6 5 4 3 990-010-00 |5 |y 1
REVISIONS
ZoNE: | REV: | DESCRIPTION [ oate [ aprroveD
-
20l
— 50V
UNA 30 50 410-55UB5-TO-METER
R74 4560 47UF oo
0)
’ suBsB suB 5 - va 0J11-13 SUBSOUT- D
BUS5 J3-9 o 19-10 (ogy o 0J11-14 SUBSOUT+
BUS5—GND J3-10  omo | AT ce6 cao - — : 0J11-15 SUB5OUTGND
SUBSA ) o 20K &3 2 o BUS-L
R72 swi4a R78 !
10KD R482 1 5K1 i LMIX
342 N—t L-S0L0-BUS
RS560 28 : M
utiB v < -
3 L b > + 10 iswien (85 swis CBusR
K R567 N — ¢ SW13A 4 SYME sk
76 20K 4560 =2 | ok v R-S0L0-BUS
— C208]3 = 7 iswuc R77 —
. 5K1
I L+R ook 8 S0L0-CTL
°l
=10 ESIVIIMD SOLO
125 O FLASH-BUS
US9B (33 O SUB-SOLO-LED
R92 4560 47UF Lo
16V
LA AN 0J11-17 SUBBOUT-
0J11-18 SUBBOUT+
0J11-16  SUB6OUTGND
BUS6 J3-T1 <
- . R96 c34 < R101 swigA
BUS6-GND J3-12 RO8
c c
é 20 100 PF 20K 5K1V :,_. g%ZF
50V
SW17A  R95 '
ka1 o2 K i Rmix — k{1 v10-6
27 3ot s SUBB-TO-METER
Rot uson | 4IUF — 2
> +18Y LUK pes oo T
. ! 1
q B A SW16A 4 :'5;“73 ki SWes
4560 —q s“—: v
4R 5 Isw17¢
o} ap
i SOLO 50v
= 10 :’51V1“7D — {1 410-7 SUB7-TO-METER
— 12 + I
U12A c39
R113 4560 4TUF o
1
e AR 0J11-19 SUB70UT-
0J11-20 SUB70UT+
J 0J11-21 SUB7OUTGND
R114 c40 L R18  swa1a
20 100 PF R125 5K1 o >
20K M M
!
C R108 1SIW§OA R12 5K1
3 \ T
e 36 I RN7 5KI
5 BUS7 J3-13 R109 e | 47UF e : v > 8
BUS7-GND J3-14 <—¢ A - e o 4 1SW208 sw2is
e v 1 X = 1
> L+R ) AAA
4560 By y
5 1SW20C 552:1
g8 c274
o &
= 'sw200
=10 ! - —-TO-
a3 12"' o SOLO — 0 y10-8 suss-To-METER
R127 220PF — UB1A
T/B2SUBGROUPS AN { f Vil
R131 4560  47UF
51 R120 29K L1y RZ3S
DY, A | AR 0J11-22 SUBBOUT- 8-PIN SIP DETAL
iy suBsB SUB 8 0J11-23 SUBBOUT+ TOP VIEW
R122 J8-16 GATE A GATE B
25V 120 0J11-24 SUBBOUTGND r 1 r 1
BUSB J3-15 I + 280 Vb o
. — —WWA\—e—0 J
BUSB-GND J3~16 :>u133 oot a70F R32Z cee L Gk swzan 0OOOOE®OE
2068 SUB8A 20 100 PF R247 A9 RMIX PN 1T
20K - ID MARK OUT - + V— + - OUT V+
1SW23A R129 i
R126 52 SK1 :
R130 407‘thF SW22A | R134 5K1 g UNLESS OTHERWISE SPECIFIED CONTRACT NO:
R564 & us1B 16V p o : WMN— DIMENSIONS ARE IN INCHES [KZI:“E
o - +1 o 4 SW23B pios swass TRACTIONS: . /DEGIMALS:  ANGLES: o
e 1N '5 o o o N N P
A > L+R B \ £ xxi + APPROVALS DATE Mackie Designs Inc. Woodinville, Wa. A
4560 T _lsw23c  5K1 ok DRAWN:
€290 708 trh 9-28-93
(I)Il 9.0 WATERIAL: e SCHEMATIC
11 ® _I: |
= 19, SH230 rSSTED: 8-BUS  OQUTPUT
1273 FINISH: I_
SOoLO ENG: SizE oW, NO. REV.
0 990-010-00 U
DO NOT SCALE DRAWING M C: SCALE: | |su£:r 2 o 7
8 7 | 6 | 5 | 4 3 | 2 | 1

<l O = 2 OUTPUT BOARD 10REV U ©1993,©1999 Mackie Designs Inc. All rights reserved




8+BUS SERVICE MANUA

DWG. NO. SHT [RE

Vi

AIVIZNC KA E"

©1993,01999 Mackie Designs Inc. All rights reserved

s 7 5 5 4 3 990-010-00 |3 |y
REVISIONS
w ZoNE: | REV: | DESCRIPTION [ oate [ aprroveD
JB-29 gﬂ | |
J8-30
+5V
D 48-32 5 J1-14 < R265 °
J8-31 13 <—¢ T/B2PHONES+STUDIO > v STUDIO
so-13 [F - . J32-2 +5V €256 R539 SO ouT
JB—34 l l l 10[|) PF C257 4 U28A 25V R1237
- €294 ! JB-11
J8-33 470F + C304 €305 + STUDIO-L
~01 K
= 16V
410-12
I-30 o—— J10—14 J32-3
J11-25 o——=o J32-1 U17A J8-13
J1-26 O > J-1 4560 STUDIO-GND
€95
J11-34 O——o 1-1
12 C264 100 PF C265 R338 41 Ross —
v 55 I > v i 0 y8-12
J8-27 100 PF R [Taur +! ) STUDIO-R
J8-28 J1-6 f b
T L-SOLO-BUS |:>—I R149
c57 uize STUDIO
c217 47UF Rag0 4560 | FVEL
42L\'/F N 16L—D SOLO-METER YW R266
1 L-S0LO-
—B-GND-— -5 €50
826 0t ¢ _ A MIX-B—GND-BUS ™ o A
2-TK-R R574 10270 4560 19K
206 100 P Loz K s g23
.01 < 4500 €220 c75 50V
. 26 | AT0F gygg R206 Pt L-SOLO-METER > Ny 410-9 ¢
41él\l/F + 10K | 5V RS L-METERA
+ 16V STUDIO/ 5 ———9—OC/R2PHONESL 4560
JB'23O_| N ZR287A R147 30K R273 cl02 100 PF ———————————————9° J8-21
257K J_ CONTROL ROOM Soke. C249 17 30K C-METERS
ROTE S 295 470F . R-SOLO-METER O———
20K €250
2-TK/EXT-GND 100 PFT 100 PF Rise ¥+ 283792 R269 €275 L/R METER
JB-22 0 ANV 2
Cc54 2.2V
R474 20PF R228 15K .2
1K1 ) —{] J10-10
MIX-A-R O o ks R-METERA
c251 L
Wx-8R A70F ca76 R260 R245 L 0 J8-20
-B- 25V 10K 5K1 R-METERB
— I~ [+ 1
— T swass g(/ o W v —
e U168 +16
—ef R47S 4560
MIX—-A-L L/R mix o 5K €56
_________ O I O SR 17 % : J1-8 7 100 PF 25C3792
SW4SA " Ra67 Z R472 R-SOLO-BUS > { } {OR-SOLO-METER ';*(-?9
[ > = 5K1
5K1 5K1 R148 5K1
IX-B- - -7
MIX=8-L sw:v:slf B | SWaeB U158 c228 J
P AAA—S 3B ‘ 10K 10K D20 >
r 5K1 = 5K1 S
,—"_ . . o A
2-TK T SW478 e R138 C/R2PHONESR c"?,ﬁ,_
SWATA TR 7 R470 r 20K . C218 R288A R610
o a €252 .01 16 245
: SW48A 47UF R210 50KG 20
oz = 100 PF R309 100 PF 25V o
5K1 5K1 c78 a I i 8
v [&n J ! v S L8 LR sy ¢ —
B R4 :
EXT-L ———9 SPEAKERS R&TS SKT | s x o uses  47MF MONO “ski e i cs2  25C3792 20K C/R-GND
c215 262 SOURCE S30R a7y R261 4560 ' C76  47UF oy
4707 o262 u 10K 10K C/R ! 100 PF 25V o
. A ' \ J8-8
1B-250—F| (e —e v (3on LEVEL R208 + C/R-R
EXT-IN-L R577 Q4 03 980 cag : ) Re9 ¢——————DC/R-MUTE
A 25C3792 25€3792 cse1 c247 2 Rott e
EXT-R <} { | | € 1298
€261 11 1€ v 4560
+5V 100 PF 5K1 R288B
Lo 100 PF SOKC
18-26 0— ¢ — | R R453 10K 2565792 —
EXT-IN-R  47UF 8-PIN SIP DETAIL
16V R576 — AAA— TOP VIEW
R572 398 GATE A GATE B
20K 20K 4560 r = r =
R27s b o OO O E)
10K ; U5BA 4560 PIN 1—
NG SOLO CONTROL H=SOLO D MARK OUT - + V- + - OUT v+
—b €258
R270 47UF e UNLESS OTHERWISE SPECIFIED CONTRACT NO:
10K | 4 5V R14 FLASH-BUS DIMENSIONS ARE IN INCHES
\ | — MPSAQ6 + 2 TOLERANCES ARE: o
] c298 .01 70 E6-1 FRACTIONS: EECIMALS:+ ANGLES: - - ; Woodinville. W A
L=S0LO R150 +5V pp  R293 oo D10 £ ud t APPROVALS DATE Mackie Designs Inc. Woodinville, Wa.
SOLO-CTL 2K METER-MuTE  R277 ) FLASHER £6-2 A 9-28-93 SCHEMATIC
R483 1N4148 100K IN4734 & MATERIAL:
€306 5.6y RO - CHECKED:
J1-9 _¢\2/\K/\—< o Na734 R294 09 : RED 8-BUS OUTPUT
SOLO-CTL + I v 100K N4734 MAIN SOLO LED fiSSTe:
L FINISH:
- 5.6V NG SIZE DWG. NO. REV.
= - 450-010-00 D 990-010-00 u
- PCB, 8-BUS OUTPUT G
DO NOT SCALE DRAWING SCALE: |su£:r 3 0oF 7
8 | 7 | 6 5 4 | 3 | 2 | 1

OUTPUT BOARD 10 REV U

10-3)




MACGCIKJIE:R 8-I|3US SERVICE MANUAL

s 5 [owG. No.

4 SHT | REV:
3 —010—
300 S, 990-010-00 | | U 1
{ | l n R379 5K1 REVISIONS
o SWB0A \:—'\/\/\,—!<::I>|5;3UUSS11 o0 2ONE: I REV: I DESCRIPTION [ oare [ arrrove
n R380 5K1 - = oR376 5K1
€234 US6A Rggi pWE08 = Y DBuS2 AGNB SWBIA o >—AM——BUS! | |
R168  47UF c163 > o R38T K1 BUS2-GND T {>BUS1-GND
L 4560 U44A GR378 5K1
30K 25V 47UF SWBIA ~o—AM—DBUS3 €329 WB9B ~o—AAA—— G
il J7-13 0 e 25y 4560 o149 = 1 BUS3-GND 01 == = D33§§ GND oD
CRTN- o R3B2 5K - o= -
AUX1-RTN-L AN + ¢ [swe > A - R332 40%3; U41A E;S? w375 U45A o155 | T |rsas STETT :R389 5K1 aUs3 BUS1 CF———> J31-1
c65 5K1 47UF 35 s BUS4-GND L 30K 25V 4560 25V 5k 4560 47UF 20k = seg BUS3-GND BUS1-GND CI—¢——> 431-2 b
i RIB3A 25V SWETA AN S puss J7-15 425V ORIV K o BUS2 C——1—> J31-3
= AUX2-RTN-L —— € $H08. = BUS4
soKe o R3gE SKT ) BUSTOND Sorer o : oR391 5K DUS4-GND BUSZ-GND > J31-4
AUX 1 ¢ 103 Riss dars SWB2B >——AMA——OBUSE ) 47K EW91A ~—WA——BUSS BUS3 O——> J31-5
. - —>
RETURN Ry ——>350KE T <a_R38 2K C';U”5575 GND Ié\UX 2 : L esre . 57 BUS5-GND BUS3-GND CH—8——> 4316
P aur TBALANCE - ETURN ] Ay —=350ke BALANCE FIE, > W —DBuse BUS§ 1> 317
125V T R386 5KT < BUS7-GND R333 C238! (125 R328 €260 > R393 5K1 {5BUS6-GND BUS4-GNDC+—8——> J31-8
235 .Mﬁ—%@—D_ BUS8 R oK 427g\7: 47UF 9K 4560  450F U458 5W92A\°—’\/\;\/—DBUS7 BUS5 CI————> J31
o uses €236 o R3E7 KT BUSB-GND J7-16 LapaNCaAl 4B 25v| R3T7 | 4560 BR3gs 5K BUS7-GND Bu's:u—cnoc»——>J T
R | RUS 25V 4560 47UE R37I| 44 c150 SW84A o AR —OBUs-—L AUX2-RTN-R | —/?X)\,—’__l>_l bei EW8ZB o AMA——>BUSB . “1111-10
— ~14 0—| : ' I - a—t—> 311
AUXIETIE S . £ 5Ki L25V o R388 5Ki J0PFT : 425V BUSB-GND BUS6-OND O
66 i | R1638 S SWB4B ;> BUS-R ' e T §—.oR542 5k1 —BUS-L-GND use-ono 231712
20Pr_'_"> 50KG - —T ) BUS-L-GND sttks EW93A, >—WA———DBUS-L BUS7B'§7DG——> 431-13 —
*Jcma RIB6 0 reos (SWooA Reg0 ) LUSTRICND b R5435K1 > 31—
2 RR 606 2 5Ki o [ §¥838, =—W\———DBUS—R v BUS8 CH————> J31-15
3= AM———D L -S0L0-BUS i 26 R330 S BUS-R-GND BUS8—GND<——8——> J31-16
J7-25 0—¢ 470F 4 1SW55BRS41 7UF 2K q SW58A R346
47-26 0—¢ 25V €320 A R-S0LO-BUS v Ay 06 L > 931-17
—s0L0- L-SOLO-BUS BUS-L—GNDCI———> J31—
AUX—RET—GNDCT o1 T 7.5W55¢ AUX—-RET—GND < T L4 lswses R247 # Y RED X 131-18
=N SOLO-CTL €330 e R-S0LO-BUS soto BUS-RG—T—>u31-19
SW550 —R—
L 10,7 .01 7 :S\gfvac R368 BUS-R-GNDCI———> J31-20
T2 9 Ssolo-CTL 910
o 10" 5W58D
¢ SOLO L
— L 12 <JFLASH-BUS
a  R312 5K1 L
EWB5 A wo——AAA———L PHONES—1L :
.
! a R313 5K1 o R350 5K1
T PHONES—1R BW74A o VW\———TO>PHONES-1L
! o R34 5K1 < b R351 5K
R3S S RIS WEEA, > PHONES—-2L RW7 4B >—AAA——— PHONES-1R
< 20K ! h R3S 5K1 c131 R372 LR370 ! o R362 5K1
o7 BWB68 =AM\ ———OPHONES-2R R339 470F U424 C157  Spox S20K SW75A, PHONES-2L
L Rz9B A1UF 4560 o1 o R316 5K1 Jrmte & A2 +25V 4560 A < 9 b R363 51
- . ’ *
17 y +1% a3 I gy —8us-L A L € i~ =y W758 >——AM———{>PHONES-2R
AUX3-RTN-L  cq3 R258A ¢ ‘—'—Cll BUS-L-GND C127- R334A L & o R34 5K —BUS-L-GND
— 20PF ! BUS—R— 20P| 50KG EW76A —N\—DBUS-L
S0KG = GND
AUX 3 ' 322 sw878 NN K sk AUX 4 c1z9  R33%8 o R365 5K1
1e9 c15 Rosg | C139 L - R + 2K c327 VWA ——DBUS-R L
RETURN ! + 20pF 0 ETURN c328 L SW768
cre | | F—w—e= | SW5BA R544 GUF | 47UF U428 o T 2 BUS-R-GND
U | 14U K cisz | G321 — 2R R B 25y | 25V 4560 '
R R311 syl | 25V 4560 4 01 3 L-SOLO-BUS 7 + H c158
2 1 uzig  47UF T 4 SW568 R545 J7-20 £ — SW59A R366
J7-18 “— 425V Y570 BKi AUX4—RTN-R i I 1SWEOA B
AUX3-RTN-R ! € & P R-S0LO-BUS SoRT o 47UF 3 MWA—L-S0L0-BUS
203:,4 oS R2588 7 Igsec F 25V 4 sws9B R387
S 50KG 9 ———s0L0-CTL L B2 —AM——{R-S0L0-BUS
c116 10,5}°¢0 7 35‘;’5“
+ 12 s soLa-cTL
= 47UF
AUX-RET—GND 470F 2K 19
g 25V SOLO AUX=RET-GND 3 25v et
B ) -
SOLO
B
€325
01
1
323 I {O BUS-R-GND
5 i?zs  BUS-L—-GND
f <3 BUS-R-GND co4a o
C324 R354 47UF 4560 €159 R343
o1 L 27K +25V U43A 47UF R344 20K R341
L de J7-23 25V 20K 5K
I <J BUS-L-GND AUX6-RTN-L 133 (S AM—IBUS-L 5-PIN SIP
S 4 R358 20PF 1 DETAIL
%2769 R359 50KG TOP VIEW
L 5% 425V 2o s AUX & : VW—DBUS-R [OATE A7 GATE B
- f € 5K1 . RETURN | R342 - r i
TRINT c19; R31 NMAN—OBUS-L c243| 1 5K1 |
20T ook R R 4708 L A (38 cieo o OOOOOOO
. ! 470F
AUX 5 AAA—BUS-R 7-26 O AN i 25V D MARK OUT - 4 V- + - ouT v+
RETURN R322 AUXB=RTN-R '3, ' SW60A  R345
241 5K1 20PF ! o2 5K L soLo_BUS
47UF > L3 -soLo-
R B o S0L0 - s Soos B0
J7-22 _| - _ UNLESS OTHERWISE SPECIFIED :
A AUX—RTN=-R U40B H‘ 1SW57A R360 5 'SW60C R-S0LO-BUS DIMENSIONS ARE IN mcm:'sI CONTRACT o
b 4960 i ] LM L-S0L0-BUS P A FRACTIONS: DE¢
T ' 25V _\’_/\/\QM_D -S0L0-BU CeET 47UF 9 SOLO-CTL : DECIMALS:  ANGLES: o
e < 4 551,"’573 5K1 AUX-RETGND 25V Lo isW60D o * APPROVALS DATE Mackie Designs Inc. Woodinville, Wa. A
s —6°\§w—’\N\:—DR—30L0—Bus R CI—— 32503
7.8 857C MATERIAL: e SCHEMATIC
470F e —soLo-CcTL SOLO 8-BUS
25V 10! rssueD: -BU OUTPUT
AUX-RET—GND = P SSUED: U
ENG: SIZE DWG. NO. 990 O O O REV.
) -010-00
DO NOT SCALE DRAWING MF G U
. ] | ) | SCALE: | |SHEET 6 OF 7
° 4 3 | 2 |
1

(10-4 OUTPUT BOARD 10 REV U

©1993,©1999 Mackie Designs Inc. All rights reserved




8+BUS SERVICE MANUAL M@@[@D@

[owe. No.

SHT REV

5 , | 5 s 990-010-00
R231 4560 c48 REVISIONS
C16 20K R248 Z0NE: | REV: | DESCRIPTION [ oate [ apprOVED
T/B2AUX1 > 47UF 120 il i
/ 20pF - AUX 1 SND — \ O J7-2 AUXIOUT- |
R510 {55 *25v O J7-1 AUXTOUT+
162
30K rios 47UF R2408 coo R12469 TP 0 J7-3 AUXTOUTGND
——ANN—¢
Ax1-30s el es00 Ly — [T | R
o et Raa3 s 470PF U558 25V 4 5W628 RE30 P Use o
50KG 4560 L5 u2¢ u3c u4c u7e usc utoc
| 4560 4560 4560 4560 4560 4560 4560
U478 R431 SRa32 < 7.sHe2c
4560 20K 2 20k g3 _T_ ciz8 _T_ c1go 1 cigz hd cigs 1 cige
1SW62D o vl Fo_- Fo-
10,1 T <= oo °e- e
1 =!1 0179 c131 c183 €185 c187
3 I = T T Tot Tor Too
o1 SoLO une u12¢ u33c v14C us7¢ usiC utsc u19c u20¢
4560 4560 2068 4560 2068 4560 4560 4560 4560
R400 4560 T cies Lcigo Lcioz Lcigsa 1o
20K C168  p4p5 - 01 — 01 —= .01 —= 01 — .01
v >~ mL,{}\, S Cig9 = C191 —=C193 —= C195 —= C197
— /82002 cios bmon T Ty © J7-oAw2ouT Tor Too To Tot Tooo qp—  |—
207F  AUX 2 SND R65 O J7-4AUX20UT+ €331 == €336
R512 €223 20 c2i0  R409 u21Cc u22c U23¢C u24C U25C u26C u27¢ U28eC u13¢ u30c .01 .01
30K R418 o165 30PF b—AN—9 X © J7—6AUX20UTGND 4560 4560 4560 4560 4560 4560 4560 4560 2068 2068
+ Py Py Py P Py Py Py ° ° Py Py °
Rage Ay H (€301 4 |470PF 4T0F R Loes Toago T caoa T caos 1 cags
J2-3 . I . . .
3
AUX2-BUS ¢ ugos ! R434 c199 201 €203 €205 —-c207
U46A R442 4560 4_1SW63B Ty
4560 50KG Ra35 SRA36S S5 5V T o1 011 ot EQT .01 T .o 1
) L
> 20k 20K 75483 ustc u17c use u34c USC  U36C us7c ussc u3sc u4oc ts
c3n 9 oD 4580 4560 2068 4580 4560 4560 4560 4560 4560 4560 e, I F7
|1 10,1
! »—OE4
|0|1 l_i} ul J15-7
: - J15-6 «<—o J, +16 c
¢ ci67 SOLO J7-11 J15-5 -1
2FF X 3 SND 69 AUX3-60UTGND POWER LED
0224  47UF 047-12 u41c u42¢ U43C u44cC u4sC U46C u47¢ u48C u49c us0c W A GND « 03
168 RiQt 4560 4560 4560 4560 4560 4560 4560 4560 4560 4560 15a RN
470F v * 0 J7-7 » o o . - M " . <——>+48V
R403 55V o AUX30UT S15-3 «—— =412V R580
o - p— AUX-3-PHNS Ra39 SR Raz 9152 o
AUX3-BUS ¢ 5.";23 402 UX=3- 20K q S22 SK1 POWER W15- | 0303
? SW64B R438 .01 =
4 * =
{1 ! PGy us1C u3ac usc ussC US6C uic usoC Us9C Us4c us8C CONNECTOR =D GND
c312 57 ISWe4C 4560 4560 2068 4560 4560 2068 4560 4560 4560 4560
.01 5&' 8 ° . . ° . o ° Py o
i > D14
10 1SW64D lg D16 D17 —
I + 414
,1_2_§“ N4148 IN4148 1N414B IN4148
¢170 L
30PF - us2e
c171 u1sC
AUX 4 SND €225  47UF soLo ~
¢221 T oy * 4560 4560 Lase ;Jéss%
2z 1 i A2 . 0 J7-8 AUX40UT SW77A tos0
25V - MOM
J2-9 + . D19 D15
¢— O AUX-4-PHNS No———>T/B2AUX1
AUX4-BUS 4 VoA R456 SW20A R440 i / IN4148 1N4148 N4I48 IN4148
2280 BaR8 20K 120500 5K : _
2 :
€313 SW778
I} )i Jl 4 F"é’ng R4K515 e ! +16, +16,
12-8 <4 o g’:swzgc SW78A E_J E_J o
A L8 ! MoM €338 338 220333 c33s €352 __C334
J2-6 <o o Re44 I N> T/B2AUX2 To To To T o 01 ot
. 2 . ,Qésrgzso ok T T : : B
1 Isw78B
22 <—9 Sz L |—Z" . Q2 g RIZ6 = L =
AUX 5 SND Cc174 - €276 25C3792 1K1
. s 4 S0L0 s T ,
Oo—¢
R4 E;{]sr : '1;\9\ O J7-9 AUX50UT LEVEL €337 C340
12-7 +25V B AUX—5-PHNS Ra45 < €230 E%ag SWB1A +6 .01 .01
AUX5-BUS ¢ R552 SW30A R457 2K 100 PF %5y ¢, MOM | T/B2SUBGROUPS 307
Us08 R410 20K 1 i 229 US2A 259 | Iy D 48 047
4560 50KG 32 047 4560 470F R17 MRagol 1 € ! =
cate T T 3w303 k4SS R447 25V K drass iswe18 R68
;
17 o2 AAA ¥ 20K
01 |_g"’.swsoc TALK-BACK M Ra4s 20 SW79A4 usze - R34 Rito
— 7.8 MIC R446 50K6 Gons ] MOM | T/B2PHONES+STUDIO | R82 4560 T 10K 20K —
) 10K N1 10K
s ,0°:s1v1300 4560 ;
7N \v4 Z16
20PF 12 SW798 L
AUX 6 SND ¢177 = > Y R102 ——e————OC/R-MUTE
prr T R416 — 120 c299
c176 R i A0 SOLo 04710 AUX60UT o4
Rats  47UF R428 1T+ 1% ! = = =
J2-10 N 39K +5Y v ]
_ J b AUX-6-PHNS  SR555
AUXG-BUS Y208 Rt US1A 20K 1SWIA R55|<513 D7 UNLESS OTHERWISE SPECIFIED CONTRACT NO:
4560 50KG 2 S L-SOLO-BUS DIMENSIONS ARE IN INCHES
4560 . ) v RED 8-PIN SIP DETAIL TOLERANCES ARE:
4 1SW31B R554 FRACTIONS:  DECIMALS:  ANGLES: O
I ey L SoLO TOP VIEW - - N\ A
A A B 2 AAA O R-SOLO-BUS GATE A GATE B .xxf t APPROVALS DATE Mackie Designs Inc. Woodinville, Wa.
€315 7 isw3ic r 7 r 7 X oRAWE
o1 78 R441 ~_TRH 9-28-93 SCHEMATIC
v 9- osoo-en 5 00000000 = e
AGND 10,1531 PIN 1 8-BUS  OUTPUT
L ,go {DFLASH-BUS D MARK OUT - 4+ V- + - OUT V+ P ISSUED:
) ENG: SIZE DWG. NO. REV.
SOLO N 990-010-00 U
DO NOT SCALE DRAWING FFG: SCALE: | |su£:r 7 ofF 7
: | 7 | ‘ : . | : | : | 1

©1993,01999 Mackie Designs Inc. All rights reserved

OUTPUT BOARD 10 REV U

10-5)




MACGCIKJIE:R 8-I|3US SERVICE MANUAL

[owG. No. SHT | REV:
6 5 4 3 990-010-00 (4 |y 1
REVISIONS
ZonE: | REV: | DESCRIPTION [ oate [ aprroveD
D D
10 PHONES 1
104 out
PHONES-1L O 47UF U22A
4 R169
PHONES 1 SOURCE +23) 560 RIOS
PHONES—1R > — — { €
SW39A - SW39B 2203 C/R . >
45 R202 Pt
[3N2—A—e [ 5% stas:;> RI70
K
Sl [ 20 J8—15 PHONEST-L
0228
e e e - 4560
sw2sh " gis3 J 0 y8-16 PHONES—1-GND
= —= MIX-B PHONES 1 E’;%SF R300
LEVEL €59
- F-E----- 25V 20K
sw26A .~ R155 swzssﬁ' R156 200F L £70 o B0
. fl q 4 AUX-3/4 X f 1€ O yB-14 PHONES1-R
[ SEND
=== P ,
SW27A ,-" R157 BW27B/ R158
o ot AUX-5/6
- = SEND
e e e -
SW28A - R178 sw288 ,-'R179
—=2 % EXT
¢ R279 c
swsgc 1, SW3BA sk
v 8 | 3. \ L-S0LO-BUS
w3sp ¢16, 5160
ol AN OR-SOLO-BUS
i R280
+5V : 5K1
\ i1SOLO
4 1SW368B
'
g £ S0LO-CTL
~> FLASH-BUS
PHONES 2 SOURCE
— PHONES—2L > PHONES 2 L
PHONES 2R >———————————————————————————— . ouT
SW3BA -"Rag0 SW38B."R201 :
1’2 e :
C/R2PHONESL > 3 ,—Bo C/R 1
C/R2PHONESR O ' ; |
rm———-q N S SE L s ! U25A 1 R243
SW40A 7 R180 SW408 ./ Ris) 4980 20K JB=17 PHONES2-L
!
MIX=B-L > = —= MIX=B % | 1/B2PHONES+STUDID '
Mx-B-R O—————+——+—+—+—+—+—————— 3 0D 0 J8-19 PHONES2-GND
SW41A ,R1B2 swatg " R183 N ponts 2 . ot S 20K
: ' R244
AUX-3-PHNS ©> g Vel | oo pr AU 4;16207,\
AUX—4—PHNS O ' ' | Y .
8 ! i N R192
! | 120
AUX—5-PHNS O 6 v 0 J8—18 PHONES2-R
AUX-6-PHNS > ' :
: U278
—2" oK) | : 72 i 4560 R193
EXT-L D = & AN +412l\.}F Rios | i
!
' €
\v4 ; 50KG
EXT-R D> i R2868
!
'
L GREae T L e R R 8-PIN SIP DETAIL
— 7 iswsae _1.SW37A ool TOP VIEW -
'
O |- -
8 —f": v L-SOLO-BUS [-GATE A [~GATE B
10 1} —=! 5
L 6  R-SOLO-BUS
20T EeSW378 gy OO O )
: 5K1 PIN 1 —Z
+5V V', swsrc ID MARK OUT - + V- + - OUT V+
g8 = S0LO-CTL
D5 !
RED # ;
- INLESS OTHERWISE SPECIFIED CONTRACT NO:
w gy e MINCIIE
L 2
125 O FLASH-BUS FRACTIONS:  DECIMALS:  ANGLES: O
A ot t APPROVALS DATE Mackie Designs Inc. Woodinville, Wa. A
+
SOLO e PRANN: 4 9-28-93
VATERIAL: e SCHEMATIC
[ISSUED: 8-BUS OUTPUT
FINISH:
ENG: SIZE DWG. NO. REV.
D 990-010-00 U
DO NOT SCALE DRAWING M C: SCALE: | |su£:r 4 OF 7
: : | ‘ | : . ; | . | |

<1 O = 6 OUTPUT BOARD 10REV U ©1993,©1999 Mackie Designs Inc. All rights reserved




8+BUS_SERVICE MANUAL M@@[@D@

[owG. No.

SHT REV

990-010-00

MIX-B-L-BUS  J1-2

C79
100 PF

J1-1 ’
E2

MIX-B-BUS—-GND

=3
J1-4

MIX-B—BUS-GND
MIX-B-R-BUS

U30A

2068

C82 100 PF
R215

C84
47UF

c318
.01

T

L L c319

418V

~

R213
36K

u3B
4560

MIX-B
MASTER

R217
5K1

'\
———4;//'0105

R301 5K1

2
]
199
<«

100 PF

2R303

5K1

2308 '

2068

V

S R532
20K

O J8-5 MIX-B-QUT-L

MIX-B
OUTPUT

R533
20K

O J8-6 MIX—-B-OUT-R

l—DAUX—B—GND
o}

MIX-B-R >

MiX-B-L ©
MIX-=B TO L/R MIX

T/B2SUBGROUPS > ’ A

& e |
sk
R229 5K1

5K1
R550
A

SW35A

C85 220PF
11
1T

5K1

BUS—L RS51

J3-17 1

R218
2K7

BUS-L-GND 1

J3-18

R607
20

C341

$220PF

BUS-R

J3-19 1

+~" U57A
2068

c87
| | 220PF
1T

R222
\
2K7

e
R241
]220 25V

o}

47UF
16V

R578 5
16K

Jg-7

OJ11-32 L-PIN2P

SR50

20K

8

R226
A

C89
2C||PF

C88
47UF
s +2|5V

BUS-R-GND y3-20

R608
20

C342

$220PF

{0578
2068

F1C

Cc297

J9-19  J9-20

MIX-RA MIX-RB R278B

g
R306

20K

10KD

L/R M
FADER

0291+

47UF
16V

R573 <

15K

X

5K1

R502
5K1

O J11-31 L-MIX-BAL-GND

L MIX

0J11-33  L-PIN3M

MIX-A-L
R227

120

R236
20K

J8—-1 L-MIX—UNBAL-OP

C209
2C||PF
1

U348

N
*a7ur
6V

R501

€93 120
4

O yB-2 L—MIX—UNBAL-GND

OJ11-27 R-PIN2P

v

4560

ZR506
20K

R MIX

.01

R535
5K1

VW

C212
20PF

R534
1

US4A

ca21

47UF R51

R268
20K

0J11-28 R-MIX-BAL-GND

4560

MIX-A-R
R536

us48
4560

120

J8-3 R-MIX-UNBAL-OP

R537
20K

O Jg-4
R-MIX—UNBAL-GND

O J11-29  R-PIN3M

8-PIN SIP DETAIL
TOP VIEW

I—GATE A—l

REVISIONS

ZonE: | REV: |

DESCRIPTION | DATE

[ apprOVED

,—GATE B T

0000000

PIN 1
D MARK ouT -  + V- 4+

- OUT V+

2101 706-033-01
STANDOFF, SWAGE, 4-40 X
2102 706-033-01
STANDOFF, SWAGE, 4-40 X
7103  706-033-01
STANDOFF, SWAGE, 4-40 X
2104  706-033-01
STANDOFF, SWAGE, 4-40 X
2105  706-033-01
STANDOFF, SWAGE, 4-40 X
2106 706-033-01
STANDOFF, SWAGE, 4-40 X
2107  706-033-01
STANDOFF, SWAGE, 4-40 X
2108  706-033-01
STANDOFF, SWAGE, 4-40 X
2109  706-033-01
STANDOFF, SWAGE, 4-40 X
10 706-033-01
STANDOFF, SWAGE, 4-40 X
zm 706-033-01
STANDOFF, SWAGE, 4-40 X
n2 706-033-01
STANDOFF, SWAGE, 4-40 X
n3 706-033-01
STANDOFF, SWAGE, 4-40 X
14 706-033-01
STANDOFF, SWAGE, 4-40 X
15 706-033-01
STANDOFF, SWAGE, 4-40 X
18 706-033-01
STANDOFF, SWAGE, 4-40 X
m7 706-033-01
STANDOFF, SWAGE, 4-40 X
18 706-033-01
STANDOFF, SWAGE, 4-40 X

5420
[] 5421
5421
5421
5421
5421
5421
[] 54201
5421
5421
5421
5421
5421
5421
5421
5421
g

54201

5421

QTY
760-01-00
BTN 9X9MM LG CORE

760-013-00
BTN 9X5MM LG CORE

706-009-00
SPACER, PLASTIC .385 LED

65

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES
FRACTIONS: DECIMALS
+ xx *
Xxxt

ANGLES:

CONTRACT NO:

APPROVALS

DATE

Mackie Designs Inc. Woodinville, Wa.

IMACKAES

DRAWN:

MATERIAL:

trh

9-28-93

SCHEMATIC

[CHECKED:

[ISSUED:

FINISH:

8-BUS OUTPUT

ENG:

SIZE DWG. NO.

990-010-00

DO NOT SCALE DRAWING

MFG:

REV.

U

SCALE: |

|SHEET 5 o 7

©1993,01999 Mackie Designs Inc. All rights reserved

: | .

OUTPUT BOARD 10 REV U

10-7)




W/ AT =3, 8-BUS SERVICE MANUAL

T — ® ® O oy e TS © 8
il - - -@.@ @ @ gism - T 9395 @ e I
sl m ™ — @@g. o it S5 .00 y O i 98 3 K @a@a@a@' .
- '@'. .. E @@@E g ¢ @ BSEE E@@l 4488 a@l m@EIIIE@ ek l@l@.g@%@lﬁ@
i .@@.‘l PN C—— EEReE : o . B
oL E@@E@@_En 5’ @%lo@g@ﬁ i i ¢ l@'%'@%l l%@l e © ) e -
EE G E@@gg@ D e .u N e —— I | = = .
E - " E“ E S 19 Ml I ) il @ﬁ 4" ._.@@@@ ik I i - | . ®
o~ B B daseEn ,_| @,_@.E“a.@@. gy f° B @ ———= —
5§ © éa- =] [ 1#%%% © . T B O] () .
@ @E m BEE o .
ﬁ@ Oy b b e ® B — -
@|||_| |_|@.|i| O El. ﬁ LJ E @EEEE LD —sv— oy ” ' B " B .@
0 B @@@@@@aa i00f0 ﬁ@@ =y o Bt — -
| b E w37 W) w ERE E :/n_ s |BE( s | RSS

@lz@ﬁ@® :l. I__I LJ'E@‘%’ '8 ‘E@ﬁ@@@ s @ o E@@EEB - | — — :

'@l@@lh@@l@@l ‘ @ @ %‘:LJ WE, 6606 ® o B[] - o
:E -5::E -I¢I¢¢l¢l u"' @IOCE@ L @E@@%EI# L gy .
%oy ® ) ) T@Elﬂ . : @@@@ .%" BB 88 ) [ Jal- ) : ®

— G —® . g ] gpe® m T — - S

lg.l@@.. @_l% BES .l%. |_l"5“ E@EE ® . @ ; @

<1 O = 8 OUTPUT BOARD 10REV U ) ©1993,©1999 Mackie Designs Inc. All rights reserved




8+BUS SERVICE MANUAL LV /2 (I X =,

J7
Aquouh_lJ 2 |aux 1y our -
AUX 1 OUTGND[ 3 4 |aux20uT + J10
AUX20UT-| 5 & |aux 20Ut GND suB 1 1O meter[ 1
AUX30UT| 7 8 |aux4our SUB 2TO METER| 2
AUX50UT] 9 10]AUX 6 OUT SUB3TOMETER| 3
i AUX 3-6 GND| 11 12|AUX 3-6 GND SUB 4TO METER| 4
AUX 1RINL[13 14]AUX 1 RINR SUB 510 METER| 5
— — i UXx2RINL] 15 16|AUX 2RIN R SUB 6 TO METER
G- G O - o AUX2 FIER| e
é H AUX3RINL|17 18[aUX 3RINR SUB 7TO METER| 7
7 i 75 sl Sy ¢ JRan iy AUX4RINL[ 19 20|AUX 4 RINR SUB 8TO METER] 8
< AUX 5 RNTLY 21 22{AUX 5 RINR LTO METER| 9
AUX 6 RINL| 23 24]AUX 6 RINR RTO METER| 10
J2 , AUX RTN GND| 25 26]aux RTN GND SUB METER MUTE| 11
! > i o , J1 DGND| 12
P — — — N N -MIX-B-BUS
w {f} - @ A Azug ; f ;wx B-BUS J8 ol
- — - | A -MIX-8- L MIX UNBAL OUT[ T T Z |t MIX UNBAL GND DGND| 14
— e T T T @ _ ¢c ] AGND) 3 6 HL-SOLO-BUS R MIX UNBAL OUT{ 3 4 {R MIX UNGBAL GND
i ° i - ) i
— == 2 G — AGND| 7 8 |R-sOLO-BUS
— —_ — — mixgourt] s 6 fmixsourr J1
- - - T SOLO-CTL| 9 10{FLASH-BUS
- _ - — ool 1 12l0en0 MIXBGND| 7 8 |CONIROL ROOM R sus 1our+[ T2 ]suB 1 our -
1
— — — ; vsvl 13 14 lesy CONIROLROOM L] 9 10JCONIROL ROOM GND SUB 1 OUTGND[ 3 4 |SUB 2 OUT GND
- - SIoIo L) 1 12]sTUDIO R suB20UT-{ 5 ¢ |sus20ur+
o UL.I .J - J cond STUDIO GND| 13 14|PHONES 1 R suB30UT-{ 7 8 {sus30uT+
: = F 4 b : : r PHONES 11} 15 16|PHONES § GND SUB3OUTGND| 9 10{suB 4 OUT GND
t: 1 - - r = - A = ﬁ J2 PHONES 21117 18|PHONES 2R SUB 4 OUT-[11 12[sUB 4 OUT +
J ‘] O E C : - ‘H[ ? |$- [ . - 1 AUX-1-BUS] Tt | 2 JAGND PHONES 2 GND| 19 20|R METER B SUBSOUT-|13 14]SUB5OUT +
E oCk —- L= — AUX-2-8Us| 3 4 |aGND L METER B[ 21 222 TRK/EXT GND SUB 5 OUT GND{ 15 16 [SUB & OUT GND
L - - R =t AUX-3BUS| 5 6 |AGND 21R< 1|23 24|271RK R SUB 6 OUT-{17 18|suB & OUT +
20 EOE - o a E AUX-5-BUS| 7 8 |AGND EXTINL| 25 26|EXTINR sSUB 7 OUT-{19 20{suB 7 OUT +
J 2 u*j 3 L I =z 2 - C AUX-4-BUS| 9 10 |AUX-6-BUS -16v| 27 28]-16v SUB 7 OUT GND| 21 22{sus & out -
3 . +16v| 25 30|+18v 5UB 8 OUT GND| 23 24i5U8 8 OUT GND
: +sv|31 32+sv AGND|25 26|aGND
DGND| 33 34[DGND ROUT+[27 28[R OUT GND
J ‘I J3 ROUI-{29 30|AGND
- :__ - Bus-If 1 [ 2 |aGnD 19 LOUrGND| 31 32|t our +
BUSZI 3 4 JAGND su8 1 NS SEND T [ Z]suB 1 INs RIN LOUI-[33 34|AGND
—_— — — — — — 3l s
O O D D BUS3| S 6 |aGND SUB 2INS SEND[ 3 4 fsug 2ins RN
0T D OC Bus-af 7 180 AGND SUB3INSSEND| 5 & |SUB 3INS RIN 115
U N S IO S B O 5“2'5 : - :iND SUB 4INS SEND| 7 8 |suB 4 NS RIN oGO
e e B F B :zs: 5 14 AG:ﬁ SUB 5 INS SEND| 9 10|SUB 5 INS RIN Y
i SUB 6 INS SEND| 11 12|SUB 6 INS RIN +2v] 3
8US-8[ 15 16 |AGND
SUB 7 INS SEND| 13 14]SUB 6 INS RIN vasvl 4
codoer, s BUS-L| 17 18 |AGND
SUB 8INS SEND| 15 16]SUB 8 INS RIN +iev|] s
BUSR| 19 20 {AGND
S SO SO SR S L MIXINS SEND| 17 18]L MIX INS RTN AGND| 6
; I T . R MIX INS SEND{ 19 20|R MIX INS RTN aev| 7
= J 3
.
= ¢

OUTPUT BOARD 10 REV U 10'9

©1993,01999 Mackie Designs Inc. All rights reserved




W/ AT =3, 8-BUS SERVICE MANUAL

This was going to be a blank page, but | thought you

might enjoy coloring in this block diagram instead.
A free box of crayons to the best entry.

g7
w1

1sna
ssna
Lsna
EXNY
XV

Zsng
vSng
XY
PXOV
9xXnY
EXINY

OPTIONAL 24-E

24-CHANNEL MACKIE 8-BUS
EXPANDER CONSOLE

NOTE:

: ALL SWITCHES SHOWN IN DISENGAGED (UP) POSITION

INSERT

MiC IzN MIC/LINE
|

INSERT

[ReinN]

Lorsorto
B

SUB OUTS 2, 10 & 1§
—o——

PHONES 1
OuUTPUT

PHONES 2
OUTPUT

SUB MASTER 1 & 2 soLo
(#3 - 8 IDENTICAL) Tx
PAN
=° T
FHANTOM POWER ’\L I_L = H
(PER 8 CHANNELS) b: 1
AN || AUX OUT
i FADER l/g % <1 >
LINE MUTE_So o
IN |:| Lo & ~ o AUX SEND 3 <1, SOLO
HyLo EQ (44, 5,6 TDENTICAL) T
SPLIT F
AUX OUT
LEVEL —o——
TAP ) "
IN § E o
° A AUX SEND 1 (5 soto
+4dBU/-100BY Select AUX3 G2 IDENTICAD H
PFL MOD ¥N o
AUX 5
AUX 4
DIREC
ouT g ier AUX 6 | |
INPUT SOURCE  Fupsw I T PAN cLosaL OPTIONAL METER BRIDGE
1 OF 16 (24) (32) o L~ ]
t+——o MIX-B SOURCE MOD CHANNEL LEVEL
TAPE IN
i PHONES 1
1] A ouT SOURCE
~ | 7T 47 MONTOR
i I PHONES 1
N | et azl LEVEL >
L MIXB !
B y - 2
" MIXB ! MIX-B OUTPUT —F---z , i
QU AUX 34 1
—o— MASTER ! [ 2 '
< ) . |:|R 25777 axse ; i
p — L
LS —T— __ Q,
~ X U, | P 854 exrernaL —— 2 _soLo
a, e — °
LEFT VTV (DEFEATED WHEN
wionoy [ BALANCH [, 56 Fy | SRS
N ——o L/R MIX L UNBAL OUTPU
1 QU
S~ ot |:| L METER
RIGHT |:| t o | \LEVEL | | & METER]
" ' o 1 2 1 Q -r-- -Q:, MONITOR
T o LR ! R PHONES 2
| | = L BAL OUTPUT IVES
""" z NS ' Q_D—l
L3 R UNBAL OUTPU 254 mixs IZ/ .
asoo | ettt o vasmem e 117 | =, D T - -2 — i i
STEREO AUX RETURN 1 L INSERT D S5 Auxas !
(#2 IDENTICAL) 3 ! é_|>_,
' BB am— R
3 1 =T
| -
. R BAL OUTPU o exrerna ' soLo
™S~ 2o -y
LEFT ol PHONES 1 = SRR R SOURCE
(MONO; <. ——or‘o’_ IS SELECTED)
N 2 1
™~ § o PHONES 2 !
RIGHT |:| [ [LEVEL 2 "
< :
~ J '—'& R 1
1
<y !
R ———) 1
STEREO AUX RETURN 3 <! SoLo
(#4 IDENTICAL) L3 STUDIO
H [~ MONO
) L1 )
LEFT > ! c}
(MONOD LEVELI//? LR oo ' _I>
T ) LEVELI i
TALKBACK:
T < > 1 T
Lo 1
RIGHT |:| . SOLO MIC LEVEL TOAUX 1 I !
- 1
"TEREO#epl\é'ég'(ngLETU RN 5 To on-ramp #257 O AUX 2 R~ 4' _ ____ ” >—Q|o-°
€ ) of the Santa Ana Freeway Lo | CNTRL RM
h ! LEVEL
T e o] :
ANS ERIBI3) |
2-TKIN puy
L D e - L
2-TKIN Vo ~t--= MONITOR
= |:| [ exrernaco] 2 SOURCE

EXTERNAI.D A
INL

EXTERNA
e Y

(10-10

OUTPUT BOARD 10 REV U

{>L?/§_I>_°ﬂ DSTLIJ_DIO
{>L§ —I>—°ﬂ DSTLTDD

OUTPUT

L
NTRL RM
OuUTPUT

CONTROL ROOM
PAD LOGIC

R
NTRL RM
OUTPUT

©1993,©1999 Mackie Designs Inc. All rights reserved



	yt: 


